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ﬁﬁ%$$¥ﬂ~81gﬁﬁﬁléw 0 0 0
igf§$7/747ﬁ AR 120, 000 110, 000 A10, 000
Bl &Y — Y AFEX S HEFEASIA 0 124, 000 124, 000
%&i%%%ﬁ—ﬁlaﬁ%ﬁXQW 17, 000 0 A7, 000
JEEN LR 0 0 0
P — VY AR SRALINA
R 0 0 0
P — Y AKX FEABIA
h M A T S B 0 0 0
— AR g ABIDUA
ZOMDIFENZ X BULA 0 0 0
SRERAA A AT B TE T S BRI A 0 0 0
Z DMDIFBNINAFH(T) 4,654, 000 4,607,000 A4T,000
T OMDIFEN K DI
B
FENLERE 1,014, 000 4,000 A1, 010,000
SRESAGAT B Y B pE S 1,014, 000 4,000 A1,010,000
LRSI ERE S 0 0 0
BB | SR | Py - GV = i el an) 0 0 0
BRI E RIS T B 0 0 0
G Ry T VA= ) S dan] 0 0 0
i i I A LSRN G R S 0 0 0
i B AE R B R N B RN E PE S Y 0 0 0
HEX SHERAS T H 0 0 0
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N R i PN 0 0 0
LR X 73 TR <2 52 i 1,000, 000 183,000 817,000
Bf%gfﬂ Er BRI A TR 1,000, 000 0 A1, 000,000
gﬁ%ﬁ[@%%%ﬁ X 3 R A4 S 0 183, 000 183, 000
U — B A X AR S 110, 000 183, 000 73, 000
3{:%%*@%%@)\%% 87,000 183, 000 96, 000
ﬁi\{f?%%ﬁ)\%i i 23,000 0 A23,000
e T 0 0 0
T OMODTEEIZ & 5 K 1,188,000 1,222, 000 34, 000
IBHG ATRU ER T S 1,188,000 1,222,000 34, 000
Z DMDTEE) L HER(8) 3,312,000 1,592, 000 A1,720,000
éﬂ%@ﬁﬁﬁémi%ﬁ 1,342, 000 3,015,000 1,673, 000
T 2 S (10) 0 200, 000 200, 000
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HEZE &N~ &1V 616, 000 600, 000 A16, 000
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A
ES-LION 430,000 1,410,000 980, 000
— R EIA 0 1, 000, 000 1,000, 000
EUIES =L/ ON 230, 000 210, 000 A20, 000
i 2 B 200, 000 200, 000 0
ElIERION 0 0 0
et R 2 A B < A 11,722, 000 11,743, 000 21, 000
My Bl <A 10, 828, 000 11, 083, 000 255, 000
Ui L 3¢ i Al B < A 10, 828, 000 11,083, 000 255, 000
EE SUEIERIN 0 0 0
LS SRITGTIS LV ON 894, 000 660, 000 234,000
EEIRET IR VN 894, 000 660, 000 A234, 000
S ZERR D BINA 0 0 0
Z AR A 105, 000 45,000 A60,000
BRAL 32 R 105, 000 45,000 A60, 000
%gg%ééghﬁ%%% 105, 000 45,000 A60,000
B DA 0 30, 000 30, 000
(EP=ERON 0 30, 000 30, 000
AT UGN 0 30, 000 30, 000
HEENA 430,000 390, 000 A40,000
FFRHIA 340, 000 300, 000 A40,000
B — & 2R FHRHIA 340, 000 300, 000 A40, 000
Fe A 90, 000 90, 000 0
TR PR S ZE A 0 0 0
Sz UM IS E 24 <2 A 0 0 0
SZ RS 2 B UA 0 0 0
Z DADILA 120, 000 99, 000 A21,000
HEN A 120, 000 99, 000 A21,000
FEGEIAGH(1) 12,807, 000 13,717, 000 910, 000
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AT 1)

o ® g HIARRE PRLAH | 4] PR BT =

UNCS-Sait 9,866, 000 10, 286, 000 420, 000
1% BRI S 0 0 0
T BAG RS 4,024,000 4,275,000 251, 000
WEE G (@) 0 0 0
WA (E®) 3,673, 000 3,801,000 128, 000
FEE IR A G 53 413,000 413,000 0
BRIRG A S 0 0 0
R 1,756, 000 1,797, 000 41,000
ES- S 1,851,000 2,057,000 206, 000
S 215,000 215, 000 0
i 53 B S [ ) 277,000 287, 000 10, 000
TH A i H A i 22 S 281,000 206, 000 AT5, 000
ENEZN- SHUE =S 0 0 0
H 2 S 114, 000 239, 000 125, 000
E T S E T 40,000 161,000 121, 000
FREIARR S H [ ) 74,000 78, 000 4,000
P S 316, 000 507, 000 191, 000
JRHRE S H [ 3] 0 0 0
CRIRR S H 97,000 101, 000 4,000
fRE 431,000 406, 000 A25,000
Feib A A S HY 120, 000 96, 000 A24,000
ME S 0 0 0
BE I 302, 000 274,000 A28, 000
i B 22 i S 7,000 7,000 0
AT 2E B S 2,000 2,000 0
HIGH RGO B S 75,000 75, 000 0
A TR 2 S 59, 000 59, 000 0
Er S 26,000 24,000 A2,000
CRIRR S HY 16, 000 16, 000 0
BRI 96,000 72, 000 A24,000
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YN = S 200, 000 200, 000 0
B 200, 000 200, 000 0
B S 1,033,000 800, 000 A233,000
e 1,033,000 800, 000 A233, 000
By <2 52 H 200, 000 200, 000 0
FRAEECE HEXE R B A< S Y 0 0 0
Mt < V) HEME B A< S HY 0 0 0
T TV Bl < 3 Y 200, 000 200, 000 0
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ﬁﬁ%?ﬁmﬁ% k&S 0 0 0
FETRH L HE(2) 13, 452, 000 13, 817, 000 365, 000
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it % BE A A5 12 & BN
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it 55 B A S AT (4) 0 0 0
it 5 HE A 12 & BN
S
] P A S 0 183, 000 183,000
FELA S A S 0 0 0
i B R OV A S 0 183,000 183, 000
[ ERERH - PR 0 0 0
i 5 HE A 5 S R (5) 0 183, 000 183,000
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I'ON
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E%Qfﬁfifémx 0 0 0
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S
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T DOMMOTEENZ & & H, 0 0 0
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Mk R HE Y — E AKX

P—E AKX
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TR & D IK
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EGR )V UN 5,649, 000 6,025, 000 376, 000
HT 32 FERINA 5, 649, 000 6,025, 000 376, 000
I SR AR 5,649, 000 6,025, 000 376, 000
FRIGEIPAG (1) 5,649, 000 6,025, 000 376, 000
TR & D IK
S
NS S 4,446, 000 4,962, 000 516, 000
B SRR S 3,346, 000 3,204, 000 142,000
MEH G () 516, 000 570, 000 54, 000
FEH IR A 5 0 140, 000 140, 000
TRE AR S 584, 000 1, 048, 000 464,000
HEL M 243, 000 243,000 0
4 S 10, 000 10, 000 0
R 2 5 HY 233, 000 233,000 0
FEAR S [ 233, 000 233, 000 0
HHE S, 176, 000 189, 000 13,000
CRIGRORE S HY 26, 000 26, 000 0
FHBC AR HY 150, 000 163, 000 13,000
FAEE S HER(2) 4,865, 000 5,394, 000 529, 000
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T DMBOTEII & BN
S

U — B A X AR S 784, 000 631, 000 A153, 000

%j—\%?%%%ﬁé)\(ﬁi " 784,000 631,000 A153,000
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IR S E A (11)+(12) 0 0 0
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AT 1)

B o= B B HIEEPRA | 40 PR LU =
EE ST NN §2
I'ON
A 0 240, 000 240, 000
FARHA 0 240, 000 240, 000
B — & AR APRHXA 0 240, 000 240, 000
FRIGEIPAG (1) 0 240, 000 240, 000
EE ST NN §2
S
NS S 0 198, 000 198, 000
B SRR S 0 198, 000 198, 000
FAEL 0 42,000 42,000
Jre e 23 5 S H [ ] 0 30, 000 30, 000
FELA 2 57 0 0 0
ERL 2 S H (2 0 0 0
FEL R 2 S [ ] 0 0 0
A R S [ 0 0 0
CRIGORE S HY 0 12, 000 12, 000
B ARl 0 0 0
S 23,000 0 23,000
i B 58 58 B S Y 23,000 0 23,000
HERT 72 23 0 0 0
IR B S 0 0 0
EE - S 0 0 0
CRERRESZ 0 0 0
G gk 0 0 0
FBL RS 0 0 0
FAEE S HER(2) 23,000 240, 000 217, 000
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¥ o= ® H
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i

Z

i
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(6)=(4)-(5)

T DOMDTEENT & 2N

A

U — A K A IUA

23,000

A23,000

ENHEEHEY — A A
WA

23,000

A23,000

Z DM DIEEINAGE(T)

23,000

A23,000

T DMODIFEN & DU

S

FOMDTEE L HE(8)

0

T DA D E BB BN S A

(9)=(7)-(8)

23,000

A23,000

TR E S (10)

0

YIRS A S
(11D)=(3)+(6)+(9)-(10)

0

HTHIAR S B B e (12)

PRSI E SRR (11)+(12)
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AT 1)
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TR & D IK
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o8 AR A B <R A 1,916, 000 1,818, 000 A98,000
PRAE b i B <2 DU 50, 000 50, 000 0
EEIRET IR VN 50, 000 50, 000 0
S FEZE AN D BRI 1,866,000 1,768, 000 A98, 000
— R AL I 1,322, 000 1,224, 000 A98,000
AT VBB IUA 544, 000 544, 000 0
SeRERINA 0 0 0
Z DAtDPA 0 0 0
HEDUA 0 0 0
FRIGEIPOAG (1) 1,916, 000 1,818, 000 98,000
TR I & D IK
S
NS S 0 0 0
HEL M 827, 000 595, 000 232,000
B RS 0 0 0
i ek Sk = 0 0 0
TH A a L fi i 2 52 1 5,000 63,000 58, 000
FI A S [ 3] 290, 000 0 290, 000
i A R S [k ] 72,000 72, 000 0
JE R S [ ] 455, 000 455, 000 0
CRIGRORE S HY 2,000 2,000 0
B ARl S 0 0 0
fam e 0 0 0
MESZH 3,000 3,000 0
S 0 0 0
BN B S 0 0 0
ELEPULL S S 0 0 0
KBRS H 0 0 0
1) 8 3 HE 1,362, 000 1,723,000 361, 000
Rk 2 HEXEE S Bl S 193, 000 173, 000 A20, 000
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AT 1)
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TR 144 Bl e 48 S HH 904, 000 904, 000 0
T 7FIVHIX B a4 2 0 0 0
RSV TF 477V —TEkES 265, 000 646, 000 381, 000
mﬁf%ﬂmﬁ%uxé§$ 0 0 0
HERANY
HEFRE T HE(2) 2,189, 000 2, 318, 000 129, 000
?i%%fﬁ§?%3§éqyfgigﬁﬁ A273,000 A500, 000 A227,000
iy AN &3
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it % B AU A BT (4) 0 0 0
it 3% 2 (5 12 & BN
S
e 5 i 5 = HLEH(5) 0 0 0
it 5% 2 < i N S 7 0
(6)=(4)-(5) ’ °
T OMDIFEENT K DI
A
Y — AR HIREA R 0 0 0
BT 0 0 0
Y — AR A
AT 0 0 0
P — Y AKX R EIA
o o 2 M IR A T S AR R 0 0 0
Y — AR A
T DOMDIFENIZ L BUXA 0 0 0
Z DMDIFBNINAFH(T) 0 0 0
T OMDIFEN K DI
S
B — U AR ERRA ST H 58,000 0 A58, 000
%@ﬁ@%fﬁxﬁim 58,000 0 A58, 000
ZOMOTEE L HEF(8) 58, 000 0 A58, 000
gﬁ%@%?géW§%ﬁ A58, 000 0 58, 000
i 2 S (10) 0 0 0
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AR L HVE e s (12) 331,000 500, 000 169, 000
IR ESEE (11)+(12) 0 0 0
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TR & D IK
I'ON
EGR )V UN 715, 000 656, 000 A59,000
IR AL 3 RERIUA 715, 000 656, 000 259,000
Efﬁgfgiijﬁ%% 715,000 656, 000 A59,000
A FHEPOA 0 0 0
FRENA 12,000 40, 000 28, 000
HFRHA 12,000 40, 000 28, 000
B — & 2R FRHIA 12, 000 40, 000 28,000
I REIRPRFZEIOA 0 0 0
FETEBHIAGH(D) 727, 000 696, 000 A31,000
FRIENI & B I
S
OME# S H 676, 000 656, 000 A20, 000
T B AR S 676, 000 656, 000 A20, 000
FEE B ARG 0 0 0
T RE A 2 S 0 0 0
HEL M 51,000 40, 000 A11,000
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R 2 5 HY 14, 000 15, 000 1,000
IR 2 S H (22 ] 14, 000 15,000 1,000
i A R S [ ] 32,000 21, 000 A11,000
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CREgR S H 5,000 4,000 A1,000
S 0 0 0
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HERT 72 23 0 0 0
BN B S 0 0 0
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0
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(HE T B DI
(3)=(1)-(2)

0

0

0

it i B AR 1 & B INE

A

i 5 B i < AN A (4)

it 3% FE AR 1 & 2 I

S

il Es R A <5 S T (5)

i 5 4 55 1 < N S A
(6)=(4)-(5)

T DMODOIFEN & DU

DIUN

Z DM DTEHIXAFE(T)

T DOMDTEENT & 2N

i

T DM OIEE) L HE(8)
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(9)=(7)-(8)
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(1D)=(3)+(6)+(9)-(10)
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RZFERINA 8,304, 000 8,317,000 13,000
fﬁ%jﬂﬁ%ﬁii%?ﬁg 8,304, 000 8,317,000 13,000
A FHEPOA 0 0 0
FERHIAGH(D) 8,304, 000 8,317,000 13,000
FRIENI L B I
S
OME#E S HY 7,368, 000 7,368, 000 0
T B AR S 4,756, 000 5,099, 000 343,000
WAL (E®) 1,658, 000 1,755, 000 97, 000
FEH B SR 53 0 0 0
TRAEAR A 2 3 954, 000 514, 000 440, 000
FREH 294, 000 307, 000 13,000
THREAR LA i 2 S 144, 000 144, 000 0
G S 86, 000 99, 000 13, 000
IR} 2 S H (22 86, 000 99, 000 13,000
RS [ 10, 000 10, 000 0
JE R S [ ] 54, 000 54, 000 0
FHE S 642, 000 642, 000 0
Jjids ik S 0 0 0
HERT 72 23 0 0 0
i A5 AR S 132,000 132, 000 0
KB SEENE S 0 0 0
BRI 100, 000 100, 000 0
FHBE RS H 410, 000 410, 000 0
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FETEE) S HER(2) 8,304, 000 8,317,000 13,000
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A
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S
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FHETHEHIZ L DINK
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EGR )V UN 722, 000 722, 000 0
LIESEAION 722, 000 722, 000 0
;;’E%ﬂ%’f 7YTATER 722,000 722, 000 0
FETRHIAGH(D) 722, 000 722,000 0
TR & D IK
S
NS S 501, 000 521,000 20, 000
B SRR S 501, 000 521,000 20, 000
FEH B SR 53 0 0 0
FHIEH S 64, 000 61,000 A3,000
TH A d B i 2 52 1 3,000 0 A3,000
A R S [ 0 0 0
EE S = 0 0 0
JE R S [ ] 54, 000 54, 000 0
CRIGORE S HY 7,000 7,000 0
HHE S, 37,000 30, 000 AT, 000
FHBE RS H 37,000 30, 000 AT,000
FETRH L HE(2) 602, 000 612, 000 10, 000
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it 55 B 57 12 K BN SE
1A
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S
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FEETEED 1 & B I K
A
ZAEe A 10, 296, 000 12, 236, 000 1, 940, 000
My 3% GBI A 10, 296, 000 12, 236, 000 1, 940, 000
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FEETEEN 1 & B I K
S
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TH A i H A i 22 S 395, 000 479, 000 84, 000
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6 55 S < i <IN S S R 0 0 0
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S
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